AP Calculus Differentiation of Logarithmic Functions Critical Homework

Find the derivative of each function.

1a) y=ln(x X — ) 1b) y”ln(t-i—l)z
y = W 1] = lnx + Lo - 1) CH')
- y —_Lh ,
d _ 1.1 2x) 2x2 —1 e £t |
& x 22 -1

ECE Lﬁr’??

. 4 N
\/4+x2) In ¢
X

19 g = ,

16 f(x) = m( le) y = In(ln x?)

“F(?CJ: )n(qf_,ng/l_ Jn x oall({_)f {,2,_% — [nt -y (61—~ [ (2 !n')c)

; e . T L = 2 b ,.L
15{}():: / (({{\72){ N @:?_J Y /z-_._,_lhfy %
T L - Wi\a t =24 nE) R
P 2 5™~ ~ x 76 = " thj
= A & ")'* 7 . -2 Jnt
FE(X) i (_[_+_,XL L %1é{_) k(‘\\é{s )
L S e B
g &y ___.__.i;‘ﬂf l
Find the equation of the tangent line at the given point of each function.
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